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1. FBTDEB =WE= ETWEE BExE
[E£]
—ER 700,000H 500,000H 400,000
tER 500,000MH 400,000 320,000H
ABER 400,000H 300,000H 250,000MH
=8t 300,000H 220,000MH 170,000H
OFRMEEANEE (BFF)
BFR K 450,000 380,000
[=] —EF 400,000H 300,000H
B =& 350,000MH 260,000H
ORMEEAEE (B4
K 580,000 470,000
—EFF 500,000MH 410,000H
=& 370,000 300,000
PO 320,000H 270,000H
—EBNR 300,000H 240,000
tER 250,000MH 200,000MH
AEMR 220,000H 170,000
=af 200,000 150,000M
O EAER (EFET)
—HRERT 360,000 300,000H
mER 7~ 300,000H 250,000
—B8f 7 270,000 220,000H
a7 240,000MH 200,000H
EaN=F a 200,000 150,000
—Bf 7 160,000H 130,000H
EXTF - tafE - FRLEAEE
ERFHEFE 550,000H 460,000
T EEE 600,000 530,000
ER BN 310,000MH 250,000H
—FF 450,000 350,000
=& 370,000MH 300,000H
mER 330,000MH 250,000H
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3,600,000 @ 3,030,000M
2,600,000 @ 2,050,000M
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320,000/ 220,000/
310,000H 210,000/
280,000/ 200,000/
250,000/ 170,000/

O - - +F#H%S (HEM)

200,000/
170,000M
160,000
140,000MH

2. PIEDER e EWEE BERE
[&<£]

—BEfRt 146,000/ | 95,000M 70,000
BE+K 121,000 = 77,000 52,000
B 98,000 53,000 34,000
£+ 97,000 52,000 31,000
A+ 88,000 40,000 28,000
=K 78,000 38,000 26,000
—HR 77,000 37,000 25,000
—BER 111,000m = 77,000/
BAE+A 91,000 64,000
B 67,000 49,000
£+ 61,000 47,000
A+ 50,000 40,000
=+K 46,000 36,000
—HR 44,000 34,000

OSRMEE AR
—BEfR 77,000 52,000
BE+R 61,000 43,000
B 40,000 34,000
£+ 39,000 31,000
E+R 30,000 25,000
=K 28,000 23,000
K 27,000 21,000

OxEa0_E A
—BEfR 61,000 40,000
BAE+A 52,000 29,000
B 34,000 22,000
£+ 31,000 21,000
A+ 24,000 19,000
=+ 22,000 17,000
—HR 20,000 16,000
WMAE - WF+FHEEL S 31,000
A2 24,000
HAZ(NR) 8,000/
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tEf
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330,000/ 270,000
320,000 240,000/
300,000/ 220,000
260,000/ 200,000/

220,000H
200,000
170,000M
150,000M
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—HFIC DX

50,0004

15,000M



